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1. Convert 150° to radian measure.
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3. Find the exact value of the following. Sketch the angle (in the correct quadrant) and label the special A.
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5. Name the following trig function using sine and cosine.
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6. Solve for all possible values wifhin[O, 27!]. Show labe

led triangles in correct quadrants,
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7. The hottest day of the year in Santiago, Chile, on average;
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is 29°C.(Jan.7 is in the summer in Santiago). The coolest day of the year has an average tfemperature
of14°C. Temperature over time varies sinusoidally. Use 365 days as the length of a year.

a. Draw one full cycle of the graph. Label.

b. Write an equation of the sinusoidal function.
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